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Topic:- Child Development & Pedagogy (CDP)

1) If a child has mental age of 12 years and chronological age of 10 years then his IQ will be

__.; 4fe folt a= 9t wie oy 12 9 3§ SR ST e 3y 10 a9 § df ST®T
amsey (YfSwam)

1. 80
2.120
3. 125

4. 100

Correct Answer :-
« 120

2) Gray matter of the brain that controls IQ and memory have greater volume in learners who

./ i< iR Wfa # Frifaa s ara afsass &1 3 Ay, Rrenfdar #
3if¥re AT H giaT 21

1. get sufficient sleep/ v Hig o ardl

2. take healthy diet/ T 38R T aTa

3. avoid stress/ IH1d I &9 aTel

4. exercise regularly/ i =u T ™ #3491

Correct Answer :-

« exercise regularly/ fafd U ¥ s A ard

3) The is one who is more open, accommodating, venturesome, outgoing and pretty

confid%ent. / ___ 98 8 o 3if¥e ga, fear, Sawsiid, 3999 iR a1w! smerfayr
qren gl

1. Introvert / w



2. Intro-extrovert / G'ia"f['@ﬁ- W
3. Extrovert / a'%-‘fi@
4. Ambivert / G’J-I'CIW

Correct Answer :-

+ Extrovert / Eﬂ%'g@

4) Obsessive-compulsive disorder (OCD) can be successfully treated using: / \‘ﬂ:—ﬁ-mmmﬁ

IR (3RS &1 Traagd® sars = ST ITART $I$ ST oI JHdT 3:

1. Cognitive behavioral theory/ SIS dgR Rigid

2. Massage therapy/ HI R}

3. Antidepressant medication/ G cifsudc gar
4. Systematic family therapy/ YOG URAR AUt

Correct Answer :-

. Cognitive behavioral theory/ I3THTdH® TagR Rigid

5) Which is the SECOND step in the problem solving method? / JHXT THTYT fafer &

R ARUT BI AT g1 82

1. Formulation of hypothesis / TR&eTT3{T BT fAR=TT

2. Testing hypothesis / R U131 BT URI&ur

3. Recognition and definition of problem / THT &7 U 3R GRYTT

4. Conclusion / sy

Correct Answer :-

 Formulation of hypothesis / URSG g3 &1 F=gu

6) What part of our memory stores events that happened in our lives? / FURY '\‘?F[ﬁf PP

o1 fewa gAR Site= § afed gemsi &1 SR 37?
1. Episodic memory / W Teh Tfdl

2. Procedural memory / PIEREED Fﬂﬁf

3. Semantic memory / Wﬁ@{ﬁ

4. Declarative memory / BILNIREER Fﬂﬁf

Correct Answer :-



« Episodic memory /Wgﬂﬁ[

7) What is the first stage in moral development according to Kohlberg? /

DIga B ATAR Afd® faera & ygar IRor w1 82

1. Preconventional morality / qﬁ- RITRATA Afadhd

2. Periconventional morality / O RERTT Afaear

3. Conventional morality / URFIRTITd Afdesd

4. Postconventional morality / T%T-URFIRITT Afaddr

Correct Answer :-

+ Preconventional morality / qﬁ-WITTH Afdemar

8) What is the term Freud used to describe his theory of the structure of the mind? / s A

5 Ug &1 ITANT A9 B W1 & U= Rigid o1 aviq 31 & fore fean
1. Consciousness /a?F-lT

2. Iceberg / W'f
3. Libido / ferferst

4, Landscape / depy

Correct Answer :-

o Iceberg/ &maﬁ

9) What social motive is characterized by a need to control and influence others? /

maéwﬁwﬁw,maﬁﬁﬁﬁamﬁaﬁw%wﬁamﬁﬁamm

1. Power / ‘\’Im
2. Achievement / SUAT

3. Affiliation / Gd&H

4. Purpose / E%QQ

Correct Answer :-

. Power / Xfad

10) Parents who believe in punishing the child show ./ 3 Hra-fuar o = @1 &fed
s Ay eRas,_  guiargl



1. Uninvolved Parenting / € (HTIIHD U H 7 ST §31T) TR
2. Permissive Parenting / &lﬂ'ﬁhw TR

3. Authoritative Parenting / SMABTRD TRaAR

4. Authoritarian Parenting / JfYHRATG] TRaARR

Correct Answer :-

« Authoritarian Parenting / JYHRATG] TRaR=T

11) At what age does the child start to show an understanding of the language? / Il foa

U HTWT Bt JHF @1 I HR a1 3?

1. At birth / SFH 9 &

2. At three months / <l II—E?fa[ U
3. At six months / & Il@ﬁ U3
4. At nine months / :ﬁ 1q75°[3[ R

Correct Answer :-

o At six months / 9: Il?ﬂef W

12) Which is not the principle of inclusive education? / PI-I1 gHTa=N e &1 Rigia
T8I 87

1. No discrimination between learners /I &ITW & & ﬁé ﬂ?ﬂ-ﬂa :@)[

2. Separate classroom for special children /foRIY gl & forg afetT e

3. Equal educational opportunities /HHIT QAfeH TR

4. Catering needs of the all children /A4 S BT WHUT Jai S| BT & G

Correct Answer :-

« Separate classroom for special children /ORI Sl & e 3feT ded

13) Which of the following is not a factor that will protect a child against stress? /

frafefed # & 19 91 U3 98 IR 781 § ol a1a & [0 TP B1 I&T HIM?
1. Family / ORAR

2. Intelligence / Tg’@

3. Authoritarian parenting style / BRG] IR it

4. Peer relationships / TEHH R



Correct Answer :-

« Authoritarian parenting style / JHRaATE URaf Qe

14) A 12 year old child understands that the weight of a table remains the same whether it is
right side up or upside down. What concept has he grasped? / Y 12 HIcl PT dl g
eI 8 {5 v AW &1 aoi= 981 381 §, I18 98 &l o} 81 U1 I 811 391 fopy
Rigtid @1 g 82

1. Conservation / Y&

2. Inductive reasoning / THATHD ad
3. Object permanence / d¥g T
4. Hypothetical reasoning / UR&fd ddb

Correct Answer :-

« Conservation / I&UT

15) According to Psychosexual Developmental Theory, fixation to which of the following stages

results in dependency? /e e Rigia & SR, Frafafad srawimsii & 9 fras
fArefRor (freem) A kT A gur T @2

1. Anal / T&T (T

2. Oral / HIf@ (31IRe)

3. Latency / YUl (ﬁ%?ﬁ)
4. Phallic / AT (Bfere)

Correct Answer :-

e Oral /m(m

16) Growth always corresponds to the age of the child. This is because of the principle of )

RemimsRA A UIAATT@RITE & Risid $ sRU AT
1. Continuity / FRRdT

2. Uniform Pattern / U UeH

3. Integration / ThIHRUT

4. Individual Differences / 30T fareIdT

Correct Answer :-

e Uniform Pattern / ThJHIA Te



17) Which of these is the best way to improve problem solving skills in primary school children? /

e faemea & s= o TUr FaRv PR § JUR $IA ST a0 30T a3 ie] 771 82

1. Solving mathematical problems. / TTOTCT THWATSN BT JHIYUT HRAT|

2. Find solutions to problems that they face in their daily life. / 3 JHWT3 BT FHIYE {Q\I\JHI, SEEIE]

3 2 Shiaa & I B B

3. Talk about their problems to peers in the class and the teacher. / JD! GRS &b IR H Hef H Tgardl
3R R Y a1 BT

4. Apply steps of design thinking process and engage with community around. / I &t ufhdT & TR I
TRON P AN HRAT 3R U & TG & 1Y TR HRAT |

Correct Answer :-

» Apply steps of design thinking process and engage with community around. / A &t ufehdT & TR |
TROT 1 AN HRAT 3R HTIUR & TS & 1Y T BT

18) believed that personality develops through a series of stages and the effects of
childhood are long lasting. / BT U1 4T for safdaa, aRoll &t ' §@an &
A1 ¥ faefa giar 8 SR aUu= & YHTT dd I ad ¥Ed & |

1. Albert Bandura / &W_c? E@T{
2. Jean Piaget /\_rﬂ:T o
3. Sigmund Freud / s wras

4, Lev Vygotsky / fora a@ﬂ?ﬂaﬁ

Correct Answer :-

« Sigmund Freud / e s

19) The term normative development indicates: / A= i v '\‘Iﬁﬁfm%
1. Rate / G¥

2. Extent / AT

3. Direction / &R

4. Distinctive qualities / TafRT¥ 07

Correct Answer :-

« Distinctive qualities / fafRry T

20) When environmental influences coupled with cognitive factors are responsible for learning, such

a learning is known as:/ﬁamﬁ@ﬂﬂﬂ“ﬁ,mﬂ?ﬂﬁ%mﬂﬁw&fm%m
RrieR ga &, @) 39 @8 & ARAH $1 1 ©u & 11 SI1en @:



1. Operant conditioning / TR o=

2. Trial and error learning / Y- 3R ﬁ% 3Ty
3. Social learning / HTHISIG SHfOTH

4. Classical conditioning / FATRID A e =TT

Correct Answer :-

« Social learning / T S{ETH

21) As a future teacher, you will need to and connect with roomful of diverse

students. / T HTd! fR1&/ & TUH, TUHT P ATaZYHd1 gRN 3R fafa o
P BT B 1Y ST G|

1. Deal /33?[
2. Connect / @_35}

3. Understand / JHSA

4. Collaborate /?I%TnT[

Correct Answer :-

e Understand / JHA

22) Which of the following is not an example of critical thinking skills? / mﬁﬁﬁﬁq—
T g i BN BT TP GBIV a1 o2

1. Improvising WWW
2. Classifying /a"mm

3. Tracking /I&ATTIRUI

4. Describing /OURATHD

Correct Answer :-
« Improvising /dPTd AR HAT

23) When children recognize that each individual is aware of other people’s thoughts and

feelings, then itis caIIed:/WﬁWW%%WﬁWW%W Gﬁ?
YTG-TT3HT | 379 8, 1 98 Hel ordl &

1. social information role taking/ STHTSIdh g1 ﬂ{iﬁm Sl
2. social and conventional system role taking/ JTHTIT 3R URUNS yorrett &1 ﬂ-ﬂil?ﬂam
3. self-reflection/ 31T Ufdfdd (@W-WW)



4. mutual role taking/ STUET YfHHT T

Correct Answer :-

« self-reflection/ 3T Hfdfdd (@W—Wﬂ‘\’ﬁ)

24) Why do we have culture-fair tests for intelligence?/ AR UTH Q'@THT & forw Wﬁ-
fereoer afiaror i 32

1. Intelligence tests should free of differences in language and education./ §®II?|T TRiefor , HIYT

3R g & SR ¥ o g1 =T
2. Cultural understanding is a part of intelligence./ Hi@i?ldp Ny gi}? DI Uh %WT %I
3. Intelligence is culture-dependant./ §@ ?IW—\’HT YIRA |
4, Intelligence can evolve/ g@ﬂ?ﬂ %! o R fosar ST g&dr % |

Correct Answer :-

« Intelligence tests should free of differences in language and education./ Q@WHT TRI&70T, HTHT

3R 14T & 3R J Yo g 1Tl

25) Which of the following determines the impact of failure in school performance? /

fFrafafad & Q@ S19-a1 fdenay uesi= & srwadr &1 uvma Fuia sear g2

1. Time allotted is more than what is actually required to finish the task / 3rdfed THT 3T S
3ifY% § S aRad H B IR 3 & oY SM1aas g |

2. The pattern and setting of task / B BT U 3R a1

3. The Challenge - what the children asked to do—which is not engaging or relevant. / T‘fﬁ?ﬂ -

! Y Sl A & Q1T BT T - SHTep¥eb I1 Ui 81 6 |
4. Level of easiness in the task / Eﬁrﬁﬁwmw

Correct Answer :-

« The Challenge - what the children asked to do—which is not engaging or relevant. / E\Fﬁ?ﬁ -

T A S B & ol H8T 747 - 3h¥p I UKD T8l o

26) A learner is an intuitive learner if / Tlﬁ U ﬁT&IT Qﬁm T god % a dg 41 ﬁTIT?

1. They notice the big picture, see how everything connects. / q ®|5nl R gEd %, R Ig DS

e &) ufshar Y dEd
2. They pay attention to concrete facts and details. / q H\?f Juf 3R faavul &R o ¢d g |
3. They focus on the reality of how things are. / CEIRER] %, 2P| dRAfdHdl R &M od %I




4. They like to describe things in a specific, literal way. / dg oISl bl fAfRIY, RMeqRT: 919 g=A
B PR P G|

Correct Answer :-

 They notice the big picture, see how everything connects. / q go! dWR ol %, 3R I DS

S B Ui Bl dEd B

27) Which famous professor proposed that children move from a position of egocentrism to

sociocentrism because of social interactions? / fb s m MHWR A uﬁqu%_d foar fo s
Ao Tdel & HIROT, ATcHBTsd AT & THTSIRIRA B 3R T¢d 82

1. John Dewey /Giuﬁﬁ_g

2. Lev Vygotsky / SECIEIRSE
3. Jean Piaget / Si ot

4, Howard Gardner /B'ITJI_St Wlé:ﬁ

Correct Answer :-

« Jean Piaget / Sii- foarst

28) CANCELLED

Which of the following is an incorrect advantage of problem solving method of teaching?/

fFrafafaa 3 9 19-9 e ) g9 ) ga $31 ot fAfY &1 Tea Ty g2

1. All disciplines cannot use this method to solve a problem / Tt ﬁﬁw BRI Ugid BT SUIRT IH=T
I g HRA P g Tg] PR bl &l

2. Learners participate actively in the process /gﬂmﬁm&ﬂ?ﬁ(w) gihd U I 4T Td
gl

3. It makes the learner interested in the learning process/tl_s'ﬁT&ﬂ?ﬁ(?Fh) D1 ST B Ufcha
¥ feeraedt feama |

4. Evaluation of learning using this method is easy/%ﬂ@ﬁlﬁ?ﬂﬁﬁﬂﬁ@f 3{TTH T
Tedicp 3T 81 STl g |

Correct Answer :-

o Evaluation of learning using this method is easy/%ﬂﬁ%ﬁ?ﬂﬂﬁ@f S3{TTH T
Tedicp 3T 81 STl g |

29) CANCELLED

The diagnosis for children having problem in word finding is ./ i | XMeg WioH ot

T HIfeE___ g«rsl



1. Dyslexia / [ERSIESE

2. Dyscalculia / %@?_Q‘IH?{%‘I'QT
3. Dysnomia / f&afia

4, Dystopia / fSweiftan

Correct Answer :-

« Dysnomia / SR

30) CANCELLED

Who described a phenomenon called horizontal decalage? / aﬁl\_r[ QWSITQ A% g1 BT guiq
feam fpar

1. Erikson / sﬁ_cﬂ:ﬂ
2. Piaget / IERIE

3. Freud / b IUS

4, Vygotsky / CIEUIRICA

Correct Answer :-

o Piaget/ IERIE

Topic:- General Sanskrit(L1GS)

VT ScaeE w1 TR SUgSAd 2

, T

Correct Answer :-



2

' g Ay | R T e R 2
| i |

, G |

_ ARISHY |
, a: |

Correct Answer :-

, TEE 99 |
Correct Answer :-

~ (HE A

4) , i Ly
MpHrdSH AT A e ?

, APASHET: ST "H |

AT HIT |
2.



| A |

, A=A IGH |

Correct Answer :-

 IAHSHET: FGH |

3.'-\ |
Y |

4

Correct Answer :-

6)

3¢ JENadH=™ Seavaid -
CIREIGEY

1.

_ GATaRa®H |

Correct Answer :-



7) ™ . - -,
‘B’ Zd FRN: FHHA TS T4d ?

HTHFTS |

1.
-,
RIS |
2.

e -\|
ddHIhIA
3.

, TSI |

Correct Answer :-

. -,

HITH RS |

Y e T Sl T @ 2
, = d=H

] |

, HEMNdH |

, UHTIUH |

Correct Answer :-

9 d=H |



I T [RATh: 2

. ST |

Correct Answer :-
- ™.
A RIS |

) JeTe U1 T - T e TeE N (L2
UG |

, TG |

_ H |

, AR |

Correct Answer :-

11) o W
THHIH — A Ad=dq: &ht ?
I |
FHHTUT Z9 |



HHT

N qq |
o«

, PHIT T |

Correct Answer :-

_ FHHT O |

12) ,_=

Fllced:' TAT 9L A FhH 2
U |

IR |

A RIS |

w

QU |

4,

Correct Answer :-

13) e
‘RRIIGTIH Sid FHIAE JUTdl F: ?
| FTfseTa: |

, AE: |
Correct Answer :-

HTd: |



) ITaadl’ I T gd 9IgAl 98 TTd: 2
ERE A
4d: |

Rt

, 98

Correct Answer :-

1

A |

Correct Answer :-

4,



| AT GraH |
) qrieH ol |

.9
, 8
3. 5
.7

P gy i VoS 9 R ?
| Toad |

T |

, ARISH |

, Lo5d |

Correct Answer :-



* g T - IOHER A 3 -
. HUShIEH |

N HETRIHH |

, dlehH |

. T |

Correct Answer :-

B rca: g



22) s .
SR hHg THd -

1. fo |

&l |

3.‘3|11FI|

Correct Answer :-

.

q10d |

23)

3¢ FSSEH Hd 9 J4id -
| AR |

 HegaH |

RECEEL

Rcciceied

Correct Answer :-



24)

‘AN’ 3l 31eE ITT: Fie 2
AL

4d: |

2.

T
Rt
Correct Answer :-

dq_|

25)

TS T g T Y e 2
| 98|

_ 9aid |

| 9ig=Id |

, 9% |

Correct Answer :-

9% |



4.

TR |

2

, HElR=H |

, SicETEH= |

Correct Answer :-

BRI EACEY




) RN g TTHRE 56H T I -
- JEAET |
y AT |
g
T=qre: |

4.

Correct Answer :-

30) CANCELLED
TEHETHIAT ARATRN: & ?
| Aigaa: |

Topic:- General Hindi(L2GH)

1) WA RS gl 411 TR A o $© F1-y3dt 0 1 39 fagr 1 o g6t 151 910 98¢ @7 ot @,
TS g 354 & HE A Rafem @ 3t 3 3% @ & R wva & Ru afea sg st s adr ag &1
9 @R | 94 P X8 U IT 471 3@ 92 & {31 gfear 7 garht-wash f w17 Iur gani gfear da-aq
3R AT NIBA-UIod WA & Tei¥ §U TR S ol # THeEHR IR &1 3R Teit-3iR TR +ff m ur?
e TR SR BT AR FIP 313 A, Wy RR W) =1eR que, RR A gl W foPT gv wwe-



BHHHR I G At | Fd FoRIBT IeT 99 571, 379 98 IR | AieT 394 el 7, 31 ¥ URR-fean 39 gI-
e & g &1 sigren @ & e s are o S | g9 &1 g 9 g: 3t ATd1 &t 91 dra- anl
98 JYid Afean I 3t g & 916 3113 U P Ua 4 36 - ! A | 37 Use-uss fire g gr-faar @
ot 3 ot 2t SR gt 7 3 P eyt 7 TGN | MY 7 TP GPd U1 E1-G) STaex &3ed RReA 33
Igd ¥ g RR W a1 7! 9elt | 8% WR & AN P T 39 YF-2N A SfAd 8 3 A1 59 7 B gH
BT T A1 FAraar af 91 A HeH oo 81 91d ¢ 1 S gTed A 1P FHUR IO, I Tl o Sibs @rar F
aag?mml@awm—%mﬁ,mmﬁ%mmﬁmﬁaﬁqsﬁvgztﬂsﬁmmwaﬂw
|

ST TR Y UG -1 IR T Uy HT IR Ia153:
- 9 D1 Jg & g 137 € 19 TR d9- JT9R o1t 82
1. gfear

.94
3. SideX

4.9

Correct Answer :-

2) WA WRalS 9al T R & o $© -yt 0 1t 33 fagr w3 o gt 181 919 =8¢ g1 af 74,
TS Gug 364 & Y@ A Rafdam a1 grdt A 32 @M & e wRaw ¢ e afde a8 & qar afi? ag &1
e §UR A T B a8 aU 38T UT1 39 3¢ & fa1 giear & gersh-gasit f H19 Iur Tan gfear Aa-a
IR ST TiHd-TIod WA P TR §T ERGH Sl | THedH? J9R B iR Teit-3iv arT off Fam um?
gfear TS 9 &1 ATEH FP 1S A, g R W) a1ex 99, RR ) el R fewe gu vwe-
BHHHR A WG At | Fd FoRIBT IeT 96 591, 379 98 IR | AiaT 394 el 7, 31 ¥ URR-fean 39 g3-
e & g &1 sigren @ & e s a9 o US| g9 &1 gog 9 g3t ATd1 &t 91 dra- anl
98 YYid AeaT O Bt Gog F TG 31eTS AN a9 UaT A I 4 ! N1 32 Ung-use e a1 w-fawr @
ot 3 ot 2t SR gt 7 3 P eyt 7 TGN | MY 7 TP GPd ¥ E1-G) STaex g3ed RREA 33
Igd ¥ g RR W Tt 7! 9Irelt | 8% WR & A P T 39 YF-2M A A 81 3 A1 59 7 B gH
BT T A1 Forear at 99+ A HeH oo 81 a8 1 S gTed A 1P FHUR IO, I Tl | Sibs @rar F
ggﬂgﬂﬂlmwm-mmﬁ,wmﬁ%mﬁwmaﬁv@@aﬁmmwaﬁ“ﬁn
|

ST TR Y UG 12 IR T Uy HT IR Ia133:
U=H- WRgd T | {5 i1 &1 arftfe Yaie fvar mar g2
1. U St gg &t

2. AT B G FI

3. 9¢ DI GG Bl

4. 9T B g BT

Correct Answer :-

. SCH GBI

3) WA WRalP 9a1 171 TR | o $ -y 0 31 39 faer = & =it 781 a9 7 <51 @t =,
TS Gag 354 8 Y@ A Rafam a1 qrdt A 32 @M & R wvaw ¢ e afde a8 & ar afi? ag &1



o §ER U T4 B1 a8 qY T§T 4TI 39 3¢ & o1 gfear #1 gorft-gadh o o191 IR a1 gfear Ad-Aa
3R 3TE UIEa-UIod WEH & Teik §U TRT Siar § THed IR & 3R Tail-3i =T off @r ur?
fear TS 9 &1 ATEH Fd 318 A, g RR W) a1ey 99e, RR ) geil R fewe gu vwe-
BHHSR 3 ¥e! A Fd RraeT de1 9d 791, 3T 98 IR | Al 9+ et §, 7 ¥ TRR-fea 39 -
R & g &1 sigen @ & e s a9 o USN & g9 &1 g7 9 g:t |1d1 &t 91 dia- @l
98 HYd Al O &Y Gog & 91 3(eTS U a& Ua 4 I 7 gat At | I ung-une fee a1 wr-faam &
ot 3 STt B 3R gt 7 3 B et F i A ARG T Fb b A1 G1-G) STae? g¥eH RRgM I3
TEd ¥ g¥eH RR W T 356t ot f1 M6 W & A & 79 39 [F-30 A sfad 81 36 A1 9F 0 Dl g
BT T A1 FAraar at 92+ A HeH oo g1 1d ¢ | S gTed A 1% FHUR IS, I Tadl o 3ibs @rar §
aag?m%m@amm—@mmﬁ,mmﬁ%ﬁmmmmsﬁ?@@ﬁgﬁmmwaﬂ\w
|

ITY TR H UgH 1 U T ¥Y HT I<R Ja133:
- ‘gfSa @1 faeiy wee 82

1. gad

2. STH

3.9

4. Toifga

Correct Answer :-

4) WG WIS gl TR § o 58 -3 <8t 9 39 faer s | et w51 919 18 81 9@ 4,
TS Gag 354 & Y@ A Rafdam a1 grdt A 3¢ @M & Riw wvaw ¢ R afes ag &1 w1 3dfl? ag &1
o TR U T4 BI a8 dY T§T 4TI 39 3¢ & o1 gfear &1 gorsdht-gash off o191 IR <o gfear Ad-Aq
3R 3TE UIEa-TIod WEH & Teik §U TRI Sioar § THed a9k & 3R Teit-3i =R o «r ur?
feaT TS 9 &1 A8 Fd 318 A, WY RR W) a1ey 99e, RR B geil R fewe gu vwe-
BHHHR 3 51 AT FA REST 91 96 991, TS 98 TR | Aigl d9= Il 3, 31 ¥ IR-feen 39 g3-
R & g:@ &1 sigren @ & e s ae o TSN & g9 &1 gog 9 g: 3t |1d1 &t a1 dra- @l
9E HYid Al O B Gog & 91 3(eTS U a& Ua 4 I 7 gat At | I ung-une fee a1 -l &
ot o ot <ft ok goi 7 oM Ft srawt & il | Y T 35 TP ¥ G1-4) STaex g3ed RReM 33
TEd A1 geH RR W 9 356t ot f1 M6 W F A & 79 39 [F-30 A sfad 81 36 A1 9F 0 Dl g
BT T A1 FHraar at -1 A HeH oo 81 91d ¢ | S gTed A 1% FHUR IS, I Tadl o 3ibs @rar §
aag?mzm@amm—qﬁmmﬁ,mmﬁﬁmmmmsﬁvgﬂ@ﬁﬁﬁmmwaﬂ‘w
|

ST TRIT B UGH - T T ¥Y HT SR JaTsa:
- GRS Weg A= 7 | & 82



5) WA WIS I 7411 R 8 o $ -3 A ) 39 faer s & geft w51 919 71 <@ 9t @,
mwmﬁv{@ﬁﬁaﬁaﬁaﬁlw#w@ﬁ%mwi}ﬁmaﬁaﬁwﬁn@;m
FER A 3 B 9T Y I8T UTI 3 9 & a1 giean &1 gordt-gash oft #19 IUR o giear Aa-a
aﬁ?@ﬂ@ﬁ@%ﬁ%ﬁmﬁm ¥ TR g TR S # JHed IR 3t 3R Teit-3NR arT off Fr ur?
gfeaT TR 94 &1 AT FP 318 A, WY RR W F1ex 902, RR ) el R fowe g¢ vwe-
FHEHDHR A 5! A F forTsT deT a9 591, 319 98 IR | il a9 Tt 7, 71 ¥ URR-fea 99 gF-
o & g &1 sigren @ & e s 9« o 1S & g7 31 g 9 g:-3 ATdT1 ot 91 dia- @l
98 HYid AfeeT g3 B Jog ¥ 918 3ETS 7 d@ Ua A 96 7 qat N1 I Uge-use e a1¢ -k @
ot o ATt <t iR gt 9 M Ft st H 3iTEl | SRY 7 ¥F JHd A1 g)-al STaex geH RREM 93
TEd ¥ g¥eH RR W T 3@t ot f1 MR WR & A & 79 39 [F-30 A &fad 81 36 A1 5 9 Dl g7
BT 3T TG Frerar at - A Hew oo 81 91d 71 3 g1erd H AT HUR IS, T Tdal | SIbY Wrar &
ggﬁﬂml@amm—%mﬁ,mmﬁ%ﬁqmmaﬂ%ﬂaﬁ?@@ﬁ%mmwa@w
|

ITYe TR B! USHR AR U T ¥Y BT IR q4133:
TH- Y@ A fafam &1 ord @« 82

1. SHAAH T g1

2. Y 7 T

3. TS
4. Yl ST

Correct Answer :-

. 3D @I BT

6) WA WIS I 41| TR 8 ot $o -3 A ) 39 faer == & geft w51 919 718 <@ <t @,
TS GaE 354 & Y@ A Rafyam @ 3t 3 32 @M & Riw wraw & R afed 98 o ;7 3d? ag &1
¥4 TR A 99 B e qU 38T 411 3F 3¢ & a1 gfear i garsh-uast W 19 IuR <an1 gfear -
3R ST NHA-TNSA WA F TR §U ERTH Sar § THedh? TR B 3R Teit-3iv Trr off Fam U
e TReS 394 &1 9189 FXd 15 A, Wy RR W) 91eR aue, RR & gedi w* Ree gu vwe-
FHEHHR A 5! A1 Fa oIt deT aa 591, 319 98 IR | il a9 Tt 3, 31 ¥ URR-fea 99 gF-
oA & g &1 sigren @ & e s 9« o 1S & g7 31 g 9 g3t ATdT1 &1 91 dia- @l
9 WYd Afan O &Y g & 91 31eTS W a% Uail § I8 7 gt At| I Ung-une e a1 wr-faam &
ot o ATt <t iR gt 7 M Ft et H 3iTEl | SRY 7 FF JPd A1 g)-al STaex geH RREM 93
TEd A1 g¥eH RR W T 3@t ot f1 M6 WR & A & 79 39 [F-2M A &fad 81 36 A1 5 69 Dl g
BT T 81 forar af 991 V FHeH oo 81 ord &1 S g1ed A 71 FHUR IS, e Tl § Sihs @rar
ggﬁgﬂﬂl@amm—%mﬁ,mmﬁ%ﬁqmwﬁmﬂaﬂ%ﬂaﬁ?@@ﬁ%mmwaﬁ‘w
|

IUYT TR Bl UGHR A4 T T UY HT 3% 9d154:
UR- 'dd P g auAr &1 A | g ?
1. 3D T g

2. dd W T FAT
3, dd o1 I
4. 9 P A HIAT BT

Correct Answer :-

o A TH g



7) WA WRAlP 9a1 171 TR | ot $© -yt A ) 39 fagr = & gt 781 a1v =18 <51 @t =,
TSP FE 354 & YW A RNafyam a7 gt A 3= @A & Rig wvaw 2 Ry afsw ag & s 3dft? sg &1
5 §ER U Td B1 a8 dY T§T 4TI 39 3¢ & o1 gfear &1 gordht-gadh off o191 IR <o gfear Ad-Aq
3R AT NIBA-UITd WA & Tei¥ §U TR S ol # THEHR IR &1 3R Teil-3iR TR +ff r ur?
e TR SR FT AR FIP 1S A, Wy RR W) =1eR que, RR &) gl W fRPY gv wwe-
THHDHR I @1 A Fa oRIBT A2 g0 I91, 31 98 IR F Higr 99 Telt 3, 7 ¥ uRR-ia 39 ga-
AR & g &1 sigen @ & e s a9 o SN & g9 &1 g7 | g:3t |1d1 &t 91 dia- @l
T8 YT AfgdT T B §og P 91¢ QTS A a9 e 9§ 36 7 9! A1 32 Use-use fre ai¢ ir-far 4@
ot o ot <ft ok goi 7 o Ft sraw & Gl | ARG T 35 IHd A G1-3) STaex 3ed RReA 33
TEd ¥ g¥eH RR W 9 346t ot f1 e WR & A & 79 39 [F-30 A sfad 81 36 A1 5 0 Dl G
BT T A1 (Hadr at 92+ A HeH o g1 o1d ¢ | S gTed § 716 HUR IS, I Tad! o 3ibs @rar §
aﬂﬁ?wml@awm—sﬁmmﬁ,mmﬁ%ﬁmﬁﬂgﬁwmsﬁ?@@ﬁ%mmwaﬂ‘w
|

ST TRl $ UgH - U T UY HT 37 Ja133:
- 4GP P T TH T & g f Far o8 | 32
1. GHFERT

2. 9189

3. WergHfd

4. ggferad

Correct Answer :-

8) WAM WRdE® Ial Tl TR W ol $© -3t A O 3§ faer #=A # =it 151 910 =8 31 @t 4,
TS T 354 & HE A Rafam @ Tt A 3% @ & Rig wrae & Ru afva sg st s adr ag &1
e R A T3 B a8 aU IgT UT1 3d 3¢ & fa=1 giear & gersh-gash o w19 Iur Tan gfear Aa-a
3R 3TE UiEd-Uod WEH & Teik §U ERg Siar § THesd 99k & 3R Fail-3i =T off «r ur?
gfeur TR SR &7 AEY FIP 318 A, Wy RR W) =1eR due, R &) gl w foPY gv wwe-
THHDHR I @1 A Fo ORIBT A2 90 997, 31 98 IR H Hier 99 Telt 8, T ¥ uRR-fi 39 ua-
AR & g &1 sigen @ & e s a9 o USN & g9 &1 gog | g:3t |1d1 &t 91 dra- @l
T8 HYId AfgdT T B §og P 91¢ QTS A a9 o 9§ 36 7 9o A1 32 Use-use fire ai¢ ir-far 4
ot o ot <ft ok goi 7 o Ft srawt & il | Y T 35 P A q1-3) STaex g3ed RReA 33
TEd ¥ g¥eH RR W 9 346t ot f1 67 WX & A & 79 39 [F-30 A &fad 81 36 A1 5F 0 Dl g
BT T 81 (Hraar at 921 A HeH oo g1 o1d ¢ | S gTed A 719 FHUR IS, I8 Tl o 3ibs @rar
aﬂg?wml@awm—sﬁmmﬁ,mmﬁ%ﬁﬂmmmsﬁ?@@ﬁﬁmmwaﬂ\w
|

ST TR F UgH 1 U T ¥Y P IR Ja133:
- U e § U SR 3t 919 @1 7S 8 98 8-
1. S BT HYBR

2. G BT YDR

3. g g &7 ISR

4, GW1 B BT SHRABR

Correct Answer :-



9) WA RS Tal 111 TR § o 8 -2zt < 1t 39 faer 33 § gt 151 910 98¢ @7 9t &,
TSP Gag 354 & Y@ A Rafyar a1 grdt 3 3¢ @M & Rie waw ¢ Re afs ag &1 w1 3dfi? ag &1
o §ER U T4 BI a8 qY ¥§T 4TI 39 3¢ & o1 gfear &1 gorsft-gash o o191 IR <o gfear Ad-Aa
3R 31T UiEa-UIod WA & Tei §U BRI Siar § THed a9k & 3R Teil-3i =Ry off @r ur?
gfear TRYS I &1 AT FIP 318 A, WY RR W) 716 a0, RR &) el R fRwe g¢ vwe-
BHHHR I 51 A FA ST 91 96 991, TS 98 TR | Aigl d9= Il 3, 31 ¥ IRR-feen 39 g3-
R & g &1 sigen @ & e s a9 o USN & g9 &1 g7 9 g: 3t |1d1 &t 91 dra- @l
I8 HYd Al O Bt §og & 91 3(eTS U a& Ua 4 I 7 gat At I ung-une fee a1 wr-faam &
ot o ot <ft ok goi 7 o Ft srawt & TGl | Y T 35 TP ¥ G1-4) STaex g3ed RReM 33
TEd ¥ g¥eH RR W 9 346t et F1 M6 WX F A & 79 39 [F-309 A sfad 81 36 A1 99 0 Dl g
BT T A1 FHraar af -1 A HeH oo 81 91d ¢ | S gTed A 1% FHUR IO, I Tadl o 3ibs @rar §
aag?mzm@amm—@wmﬁ,mmﬁﬁmmﬁmmsﬁ?@@ﬁﬁmmwaﬂ\w
|

ST TRIT B UGH 1 T T ¥Y $T SR JaTsa:
- §ER A $I9 fifga ur?

1. 98
2. YA

3. Slaex
4. gfean

Correct Answer :-

10) WA WS Ia T W & o $© -yt 0 |t 37 fagr w3 o gt 11 919 =6 w51 a@) 7,
TSP Gag 354 & Y@ A Rafam @il grdt A 3¢ @M & Riw waw ¢ RY afs ag &1 71 3di? a8 &1
o AR U T4 B1 a8 qY T§T 4TI 39 9 & o1 gfear #1 gorsht-gash off w19 IR <an gfear Ad-Aq
3R 3TE UIEa-1Iod WA & Teik §U BRI Shar # THed IR & 3R Teil-3i =T off «r ur?
feaT TS 9 &1 ATEH TP 318 A, g RR W) a1ey 99e, RR ) el R fewe gu vwe-
BHHHR I 51 AT FA ST 91 96 991, TS 98 TR | Aigl 991 Il 3, 31 ¥ IR-feen 39 g3-
R & g &1 sigren @ & e s a9 o TS & g9 &1 gog 9 g: 3t ATd1 &t 91 dia- @l
9E HYd Al O &Y §og & 91 3(eTS U a& Ua 4 I 7 gat At | I Ung-une fieie a1 pr-faam &
ot o ot <ft ok got 7 o Ft srawt & TGl | Y T 35 TP A1 G1-4) STaex gved RReM 33
TEd A1 g¥eH RR W 9 356t ot f1 M6 WX F A & 79 39 [F-309 A sfad 81 36 A1 9F 0 Dl g
BT I TG firerar at 3o+t & Hew oo 81 91d § 1 St g1erd § A1 HUR IS, T Tddl A SIbY @l |
aaggw%m@amm—@mmﬁ,mmﬁ%mﬁﬁmmsﬁ?@@ﬁﬁmmwaﬁw
|

SUY TR B UgHR A U T WY BT IR TaA154:
T=A-UKId TR § g-faa 1 dst fa-fom ot Az
1. IWRIad Gt Dl

2. 9g-gfedr aiHl &I

3. gfear oiR Wyid Afear 1

4, QY Sldel B



Correct Answer :-

. gfean 3R uid Afga 1

11) W WRAP Ia1 171 TR | ot $© -yl ff ) 39 faer = & gt 751 919 =18 <51 ot &,
TSP FaE 354 & YW A Rafyam a1 gt 7 3= @A & Rig wvaa 2 Ry afv sg o s 3dt? sg &1
o §ER U T4 B1 d38 dY ¥§T 4TI 39 3 & o1 gfear &1 gorsdht-gadh off o191 IR <an gfear Aa-Aa
3R AT NIBA-UISd WA & Fei¥ §U TR S ordm # THEHR IR &1 3R Teit-3iR TR +ff m ur?
e TR SR BT AR FIP 318 A, Wy RR W =1eR que, RR A gl R RPY gv wwe-
THHDHR I @1 A T oRIST A2 90 991, 3T 98 IR § Higr 99+ Telt g, T ¥ uRR-ia 39 ga-
faafieht & g @1 sigrer oA & forg fUrod |1d o Ui d g7 &Y g | §:@ A1 o1 a1d i i
9 HYd Afean O &Y Gog & 91 31eTS U a% UeiT 4 I8 7 gat At | I Ung-une fee a1 w-faam &
ot o 9t <ft ok got 7 o Ft srawt & i@l | Y T 35 P A G1-4) STaex 3ed RRgA 33
TEd ¥ g¥eH RR W 9 346t ot f1 W6 WR & A & 79 39 [F-20 A &fad 81 36 A1 5T 01 Dl g
BT T A1 (Haar at a1 A HeH o g1 o1d ¢ | S gTed A 1% HUR IS, I Iadl o 3ibs @rar
aﬂg?wml@amm—wﬁmmﬁ,mmﬁ%ﬁqﬁaﬁmmaﬁvgztﬁﬁﬁmmwaﬂ‘w
|

ST TR $ UgH -1 U T Uy $T 37 JaT33:
- AG® FHGH § FII gl g2

1. I G DT IR g1 el g7 T

2.JW ¢g-He A

3. X | P TR Aot U1

4. K UR B1h< W1 g1 T

Correct Answer :-

o 3 G BT I ol 18d T T

12) WA AP Ia1 1T TR | ot $© -yt A ) 39 fagr = & gt 151 919 =18 <51 ot =,
TSP FaE 354 & YW A RNafyam a1 gt 7 3= WA & Rig wvaw 2 Ry afva g # s ddte sg &1
e §ER A T4 B a8 aU IgT UT1 3d 3¢ & fa=1 giear & gersh-gash +f w19 3ur T gfear Aa-a
3R AT UNIBA-UISd WA & Fei¥ §U TR S ordm # THEHR IR &1 3R Teil-3iR TR +ff m ur?
e TR SR BT AR HIP 1S A, Wy RR W) =1er que, RR A geal R foPY gv wwe-
FHEHHR A 5t At | Fa ORI deT aa 591, 31 98 IR | il a9 Tedt 3, 7 ¥ URR-fea 99 gF-
R & g &1 sigen @ & e s 99 o TSN & g9 31 g 9 g:3t |1dT1 &t 91 dia- @l
98 TYTd Uied O &1 g7 & 915 31eTs AN a9 UaT | 36 9 Ja! A | 32 ugs-usg fire g @-fiar a
ot o STt <t iR gt 7 M Ft et H 3ifEl | SRY 7 vF AHd A1 3)-al STaex gveH RREM I3
TEd ¥ g¥eH RR W 9 346t ot f 1 e WR & A & 79 39 [F-20 A &fad 81 36 A1 5F 01 Bl g
BT T A1 (Haar at 93+ A HeH ol g1 ord ¢ | S gTed § 71 HUR IS, I8 Tadl o Sibs @rar §
ggﬂ%ﬂﬂl@amm—%wﬁ,mmﬁ%mmmmaﬁ?@@sﬁmmwaﬂ‘w
|

ITYed TN B USHR AR I T ¥Y BT IR q4134:
TH- "GHH-BHHHR I U1 BT 34 72

1. 3b-5h B I

2. PT-PeHR X TS

3. TRTS 3l 9 <&



4. (T YT F 3G BT b

Correct Answer :-

» PCHTHRA TS

13) W RIS Ia1 171 TR | ot $ -yt 0 ) 39 faer = & gt 751 arv =12 <51 @t &,
TS GaE 354 & Y@ A Rafyar @it 1 grdt 3 32 @M & Rig waw ¢ RY afe ag &1 71 3dfi? ag &1
o §ER U T4 B1 a8 qY T§T 4TI 39 3¢ & o1 gfear &1 gorht-gash off o191 IR a1 gfear Ad-Aa
3R 31T UIEa-Uod WEH & Tei §U BT Siar § THed IR & 3R Fail-3i T off @r ur?
feaT TS 9 &1 ATed Fd 318 A, g RR W) a1ey 99e, RR ) el R fewe gu vwe-
BHHSR 3 ¥e! At T RraeT de1 9d 791, 3T 98 IR § e d°- et §, 7 ¥ TRR-a 39 -
R & g &1 sigren @ & e s ae o SN & g9 &1 gog 9 g:3t |1d1 &t 91 dia- @l
98 HYd Al O &Y Gog & 91 3(eTS U a& Ua 4 I 7 gat At | I ung-une feie a1 wr-faam &
ot o STt B 3R gt 7 3 B e F i A ARG T Fb b A1 G1-G) STae? g¥eH RReM I3
Tgd ¥ g¥eH RR W 9 346t ot f1 M6 WR & A & 79 39 [F-30 A &fad 81 36 A1 5F 0 Dl g
BT T A1 FAraar at 92+ A HeH oo g1 1d ¢ | S gTed A 1% FHUR IO, I8 Tadl o 3ibs @rar
aag?mzm@amm—sﬁmmﬁ,mmﬁ%ﬁmmmmsﬁ?@@ﬁgﬁmmwaﬂ\w
|

ST TR F UgH 1 U T ¥Y $T I<R Ja133:
- faaT T &1 faew @ 32

1. ganT

2. TH Y IS 5T

3. g

4. GART

Correct Answer :-

14) W RIS Ia1 71 IR | o $ -yt 0 ) 39 faer v & gt 751 arg =12 g1 @t «,
TSP GaE 354 & Y@ A Rafyar @it 1 grdt A 32 @M & Rie waw ¢ RE afe a8 &1 71 &dfi? ag &1
e R A T4 B a8 aU 38T UT1 3d 3¢ & fa=1 giear & gersh-gash f w19 Iur Tan gfear Aa-a
3R 31T UIEa-UIod WEH & Tei §U ERg Sioar § THesd IR & 3R Feil-3i =Ry off «r ur?
i TR SR BT AEY FP 1S A, Wy R W) =1er que, R A gl R RPY gv vwe-
THHDHR I @1 A Fo ORIBT A2 96 991, 3T 98 IR H Higr 994 Telt 8, 7 ¥ uRR-fia 39 ga-
AR & g:@ &1 sigren @ & e s a9 o USN & g9 &1 gog 9 g:t |1d1 &t 91 dia- @l
T8 HYid AfgdT T &1 §og P 91¢ QTS A a9 o 9§ 36 7 9a! A1 32 Use-use fire ai¢ ir-far 4
7ot 3 STt At R gt 7 3 B et A 3ifEt | AT T Fb b A1 G1-G) Siae? geeH RREM I8
TEd A1 g¥eH RR W 9 346t ot f1 6 W & A & 79 39 [F-20 A &fad 81 36 A1 9T 0 Dl g
BT T 81 fHraar at 92+ A HeH o g1 o1d ¢ | S gTerd A 716 FHUR IO, I Tad! o 3ibs @rar
E?wml@awm—%mﬁ,mmﬁ%mmmmaﬁ?@@ﬁ%mmwaﬁw
|

ST TR F UgH -1 U T UY $T I<R Ja133:
- "y’ T ygigard 981 82

1. Hg

2. 99



3. 1y
4. g}

Correct Answer :-

15) WA WRal$ 9a T R & off $© -yt 0 1t 37 fagr w3 o gt 11 919 =8¢ g1 a) 7,
TS Gug 354 & Y@ A Rafam w1 it A 32 @M & R wvaw ¢ e afe a8 & qar adfi? ag &1
e §UR A T B a8 aU 38T UT1 3(d 3¢ & faA1 giear & garsh-gasi f H19 Iur Tan gfear Aa-a
3R 3TE NEA-TIEd WEH & Teik §U TRI Shar # Thed a9k & 3R Teft-3i =T ot @r ur?
feaT TS 9 &1 ATEH FP 1S A, Y RR W) a1ey 99, RR ) geil R fewe gu vwe-
THHHR I 51 AT FA RHST 91 96 991, TS 98 TR | Aigl 397 Il 3, 31 ¥ IR-feen 39 g3-
e & g &1 sigren @ & e s a9 o S | g9 &1 g 9 g3t |1d1 &t 91 dra- anl
98 JYid Afean I 3t g & 916 3113 UG a9 Ua 4 36 - ga! A | 37 Use-uss e g gr-faar a
ot o ot 2t SR gt 7 3 P eyt 7 TGN | MY 7 3P GPd U1 E1-G) STaex g3ed RReA 33
Igd ¥ g RR W a1 &l 9Ielt B | 8% WR & A P T 39 GF-2M A A 71 3 A1 59 7 B g
BT T A1 Foraar at 91 A HeH oo 81 91d ¢ | S gTerd A 1P FHUR IO, I8 Tl o 3ibs @rar F
aag?mml@awm—%mﬁ,mmﬁ%mmﬂaﬁwaﬂ%ﬁsﬁvgztﬂsﬁmmwaﬁw
|

ST TR Y UG 12 IR T Uy HT IR Iq133:
- g BT IR § a1 @ -

1. A U

2. ORI &

3. faws & aret I

4. ST G3HT IR

Correct Answer :-

. O U

16) IREA Ut TR, foF e 99 =1

U TR T SaR, Wi, 7Y, T

T YT U4 BT, 7 AR GePp|

ge U fibr T R, R e W S|

Iued U= B) Ugeh? -9 UD T Uy P IR Id133:
- U T qaraardt g -



Correct Answer :-

17) I urit @A, fae o W g
Ut TR A SHaw, T, Ay,

W 4TI UH BT, 7 AR} IeHTa|

g U e AT SR, R 76 W & 11

IUYa YRR Y UgdhR 19 IS Y WY HT IR 9a13d:
- “TeHI | AT 3-

1. IRerd Gt

2. 94T

3. TSl & Y TCHIBI

4, <IcT

Correct Answer :-

o 3{TATS & AT TCHID

18) A U Afe, o urht wa g1
Ut TR A SHaER, T, Ay,

T YT UH BT, 7 AR} aehra|

ge U R TSR, SR 7T wdt w1

IUYad UL &1 Ugh? ) YD T UY BT IR 9133
- A SR FTFA 72

1. §TH 9 IS Tél

2. O &t Tl

3. 718 &1 Agal

4. YT DI gl

Correct Answer :-

. U9 &I HE

19) = urt fEA, e urit 5 A1
Ut T A SHEw, T, Ay, T

IFHA YR W F1, 7 IR e |



g U AT SR, SR TTie U &1

ST UL P UgHR A YD T U PT IR qa133:
WA- A YT 0H 1 A HfS BT aread g2

1. YT SR O

2. TTH AP et

3. YA U& UM &1 IRe &

4, YT BT YA

Correct Answer :-

- U9 TS UM B RE &

20) WA U AR, 3= e gE =)
U T 9 SHaw, T, AT,

T 4™ O F1, 9 dRI e |

g U e AT oR, SR 7T ut w1
ST U= $ UgHR A2 U 7T UY T 30 I133:
- U Mg 1 3 A T 8-

L. gfeef

2. TAITCHT

3. 590 Q4 IS Tel

p——

Correct Answer :-

21) Iewd urt A, 5= urit w9 g
Ut TR A SHER, T, Ay, T

T YT UH BT, 7 AR} aebra|

e U fBe AT SR, TR 76 T w11

IUYad TEIi &1 Ugh ) YD T UY BT IR 9133
- U o1 faeia g 2

1. @

2. 31

3. 1Y



4. 01

Correct Answer :-

22) Iewd urt e, f5= urt w9 g )
Ut T A SHaEw, T, Ay, T

IREF 4TI VH BT, W AR TeHTI|

ge U v TR, R 7T wdt w1

ST UL P UgdhR 1 I T U HT IR qa13d:
WRH- TS BT TAIN 2t B 2

L%

2. UfY

3. 718

4. T

Correct Answer :-

23) U U AR, 3= e ge =)
Ut TR A SaR, Wi, 9y, g I

T 4TI U9 F1, 9d AR Gepr|

e U e TR, | 7ifs W w1

ST U= $ UgHh -12 U 7T UY T 30 I133:
TH- AW I AT 72

1. {19

2. RI

3. N[}

4. &Y

Correct Answer :-

24) H urt A, e urit e =)
Ut TR 9 SR, T, 7Ty, T



IfFHT YT U BT, Hd AR} Acpr|

ge U v T R, TR 7ife wdt w1

ST T P UgHR A UD T U PT IR qa133:
- 'YRT T gt § -

1. TSIl

2. SRTATSR

3. U

4. Q3T

Correct Answer :-

. SRTATSRY

25) fgue urt A, e urit e =)

U TR A Sa, Wi, 9y, I

AT YT UW &1, 7 dRI e |

e U fpr TR, | 7ife W eI

ITYed Ui &1 Ugh? ) YD T U BT IR 9153
- A g A A T R8 -

1. gfedT

2. TR

3. S0 Y IS Tgl

4. YT fofT

Correct Answer :-

26) Iew= e U@, fa urit g =)
Ut TR A SHaw, T, Ay, T

T YT UH BT, 7 AR} aeHTa|

g U R TR, R 7ifs wdt w1

ST UL B UgHR 1 I T U HT IR qa13:
TH- YU GIg A DIH-1 3P 82

1. %Y

2. YHD



3. 3IUT
4, I&

Correct Answer :-

27) fH urt fEd, e urit e )

Ut TR A SHaEw, Tid, Ay, T

T YT U BT, 7 AR} deba|

ge U v TSR, R 7ifs wdt w1

IUYad TEIi &1 Ugdh? ) YD T UY BT IR 9133

- UJd Ui 1 9yH Ufea ¥ &fa fea ardia Taure & 6 7o &) 91a s w132
1. WUBR

2. o

3. &dl

4. SR

Correct Answer :-

28) IeH= U AR, = urit ga =)

U T A SHaw, T, /Y,

T 4TI U BT, 7d AR} Iepa|

e U fhe AT R, TR 76 W &1

ST TR P UgHR A UD W U PT IR qa133:
- U BT YN 3R gedhs [: Jear g a2
1. YT A g1 STl 5

2. ITH T US St B

3. 39H 3T S STl 5|

4. ITH YATGAT 311 A 5|

Correct Answer :-

. 3I9H Tis US Il Bl

29) Iewd urt ey, fo= urit 9 g1



AT T 9 FHar, qiell, A9, I

T YR U9 F1, 9d dRI Gepr|

e U e AT R, | 7Ts W w1

ST U= F UgHhR A12 U 7T UY T 30 Ia133:
UH- AR PTG EU 8 ?

1. dRT

2. AR

3.dR

4. gl

Correct Answer :-

30) 3w ur @R, fam et ge =)
Ut TR A SHaEw, T, 7y, T

T YT UH BT, 7 AR} debTa|

ge U v TR, R 7T wdt w1

ST U= $ UgHR A1 T 7T UY T ST IA13:
UH- 'ge U e TR, IR s 0 9w # SR 87
1. %Y

2. JHDh

3. SUHT
4, 3TUTH

Correct Answer :-

Topic:- Social Science (SSC)

1) Who were contemporaries of Kanishka? / BT S GHBT S A?
1. Asvaghosha, Kamban, Nagarjuna / 3{ Yy, e, W

2. Asvaghosha, Nagarjuna, Vasumitra / 3{ ey , qT‘TﬁfL anz[&ra

3. Asvaghosha, Kalidasa, Nagarjuna / G{%I'Eﬁ'ﬁf, Obliadl%l, "II‘II\jC,"I

4. Kamban, Banabhatta, Asvaghosha / &, ITHE, YUY



Correct Answer :-

« Asvaghosha, Nagarjuna, Vasumitra / 31’%{@'5[, :|'ITI'IT§i:L W&H

2) Which neighboring country of India was referred to as ‘Serendib” by the Arabs? / URRd &

e usiRit QU 1 Ral gRT " WFa & wu 7 wafia faar ur?
1. Nepal / =dTd

2. Pakistan / OTfeh¥clT

3. Myanmar / ®THR

4. Sri Lanka / giciepT

Correct Answer :-

« Srilanka / didaT

3) Evaluation that is used to monitor the learning progress of students during the period of

instruction is called as: /a_E'H\T{I'iFT, Gﬁﬁ%ﬂaﬁm%mmaﬂmm
@1 TR $37 & fore swawTa fban irar @, T wearmar e:

1. Summative evaluation / JNTIEA® AT

2. Diagnostic evaluation / EEIECH UG
3. Placement evaluation / fHIISH HAlh
4. Formative evaluation / FHTOTE® Jegid

Correct Answer :-

. Formative evaluation / FATOTE® Hedic1

4) What do you mean by BOD (Biochemical Oxygen Demand)? / ®%.3f1.8!
(TR wd SRS fEHTE) ¥ MusT =T IfiUTT 82

1. Oxygen demand by aquatic plants / ST g FIR STRITS P AT

2. Oxygen demand by aquatic animals / S T{Eﬁ FREIESISEEIR I
3. Industrial demand for oxygen / i & fo 3iTenfires |
4. Water pollution by organic waste / e SRRy gRISd UgyUl

Correct Answer :-

« Water pollution by organic waste / Sfde Uy gRISd UgyUl



defined, ‘Social Sciences as those bodies of learning and study which recognize the
simultaneous and mutual action of physical and no-physical stimuli which produce social

relation’. / = ufiya foean 5, T fagm, siftnms ok siegs & a9
frerl & T ¥ g o IRIR® iR SR Iawrel &t urwike fhar & Wed
PId 8 3R TS ey S & 1°

1. James High / @W%’I‘s‘

2. Macaulay / BEAI

3. John Major / S AR

4. Bining & Bining / ot TS faf
Correct Answer :-

 James High / @ﬂ}la‘s‘

6) The research that is based on observed and measured phenomena and derives knowledge
from actual experience rather than theory or belief is known as: /

MY S sr@entpd 3R g gemei wR nytid gidar & 3k Rigid a1 YRun & awirg
AP IUIGRIAFA WA FaATe, _ wgdral |

1. Empirical research / 3ﬂﬂ“—|ﬁ$ 3=yl

2. Survey research / AT (=0T

3. Deductive research / UTdITh 3{-aN0]

4. Quasi-experimental research / TGS 39U

Correct Answer :-

« Empirical research / &ﬂﬂm 3N

7) According to Seligman, ‘Ethics and Education’ are included in: / Iferm= & IR

“Afderar 3z Rram swd Wmfde 14 &

1. Semi social science / 3¢ TTATRIG fagH

2. Social studies / ATHTSTD I
3. Pure social science / [& TS fa=
4, Science with social implication / BICIEED ﬁl%(_‘llaffﬂ?ﬂ fagm

Correct Answer :-

« Semi social science / 314 AT O



Which one is not a Nataka (Play)? / A ea TP dIch (ﬁ) T8 82
1. Pratigya Yaugandharayanam by Bhasa / HT gRT UfaT GRTRRIIU
2. Saptasati by Hala / 8Tl gRT Jwd&qt

3. Uttara Ramacharita by Bhavabhuti / Ha¥fd gRT 3R IHaRd

4. Mricchakatika by Sudraka / Y& gRI Jo5dbicH]

Correct Answer :-

. Saptasati by Hala / 8Tdl gRT 9l

9) What is the standard sea level pressure in millibars? / AT I® H’ﬂﬂ R &1 g9 faferar

A glare?

1. 1000 millibars /1000 fHTCTER

2. 1100 millibars /1100 AR

3. 1013.25 millibars /1013.25 fHfelER

4. 1025.00 millibars /1025.00 ﬁl%’ialq

Correct Answer :-

« 1013.25 millibars /1013.25 fAfeeR

10) When was the National Human Rights Commission constituted? / ?T@TI' AHEATR®R
SITART BT T3 D fbar 1T U1?

1. 1992
2. 1995
3. 1996

4. 1993

Correct Answer :-

« 1993

11) Why should social science be a part of a core curriculum? | JTHTRTS ﬁ?ﬂ:[ G| Udh

Y UTeashd &1 e «ai g anfge?

1. Helps to develop critical thinking / T8 9 &1 fawId 1 & Heg w1 g

2. It deals with human behavior / g A HdglR I Iafdd % |
3. To develop awareness of the world / fay @t STl B faBRId HH & fam



4. To develop the country / R B! [dHRIT B & feru|

Correct Answer :-

« Helps to develop critical thinking / TTg Ira P! fas g H # Aeg Hrar gl

12) ‘General Ticket System’ is another name for ./ S Rd fepe yurrety G|
GERTAN g

1. Multi-Member Constituency / dg-Ha¥ IBEIERKE]

2. Triple-Member Constituency / IERSEE32 BEEERS QY

3. Double-Member Constituency / fe-Tew Fatam &=

4. Single-Member Constituency / U cf-Ha Y BEIER! &

Correct Answer :-

+ Multi-Member Constituency / dg-Ha& BEIEREE!

13) Discussion method is also known as: / Gf¥=r=f Ui &t H dATH H +ft ST ST %:
1. Project method / gRaSH Tgid

2. Holistic method / EUTH'IHIEOI Tgid

3. Socratic method / W‘I?ﬁ ggid

4, Activity method / fhdThaTd UGl

Correct Answer :-

+ Socratic method / W?ﬁ ggfd

14) Observation of one’s own behavior by looking within is fedtaafdad
SR1 Y & HIaR SITpH: WU & HATER BT Tald- Fedrar el

1. survey / e

2. experimentation / TN

3. introspection / 3~RIGelIDH
4. rating / JedTh

Correct Answer :-

« introspection / JRIAAIH



15) Who among the following is associated with the perspective of “Education as Social

Transformation”? / FAff@aa # A B «qrHTS gfad & Fu d ﬁT&IT” L5 Ef@ﬂ"ﬂ'UT 3
Hafea 82

1. Mahatma Gandhi / HeTHT Trieft
2. Dr. Radhakrishnan / EI. UG

3. Jacques Rousseau / SIapUY =g
4. Paulo Freire / U Ga fﬂi

Correct Answer :-

o Paulo Freire / Y 35’1 w

16) Who among the following issued the founding charter of the English East India

Company? / Frafefad # O fraa sfemr s sfear U=l &1 I a1d okl fean
1. Elizabeth 1 / TICTSIaY |

2. James 11 / SI&T 11
3. James 1/ @FFHI

4. Charles I /El'l?i“fl

Correct Answer :-

« Elizabeth I/ TlRIoIEY 1

17) Who was the Sultan of Delhi at the time of establishment of Vijayanagra empire? /

fasaT R aTHTSg FY RITET & 96y et &1 geard S 91
1. Balban / dcfddq

2. Qurtub ud din Aibak / FYS-3IC-419 WaH
3. Razia Sultan / /T el

4. Mohammad bin Tughlaq / Higwg fad NUNEE

Correct Answer :-

« Mohammad bin Tughlaq / AgHg fod D

18) Who was the first President of the Indian National Congress? / YR ?T@'q CIpE k-2
TYH & DI U2

1. Womesh Chandra Bonnerjee / AR % §o11



2. Badruddin Tyabji / 9GSg - dgaGit
3. Bipin Chandra Pal / f[&f0+ 9% Urat
4. Lala Lajpat Rai / <Iefl cfloTUd XTI

Correct Answer :-

« Womesh Chandra Bonnerjee / TR T4 qoll

19) Who remarked that ‘our secondary education remains the weakest link in our

educational machinery and needs urgent reform.’? / fraa fewoft 91 {6 IR Ureafie
R, gurY Qe w=AA 3 T FUSR FS @ iR 3H dopTd GUR BT SATa=aH T

g1

1. Dr. Rajendra Prasad / 1 3ol U4TG

2. Dr. S. Radhakrishnan / ST. Y. YTP W[
3. Dr. Ambedkar / . GNQW

4. Maulana Abul Kalam Azad / AT SENICINIERS NI

Correct Answer :-

. Dr. S. Radhakrishnan / ST. Y. YIP W[

20) Inquiry-based Learning is based on which philosophy of education? / VU3t

iferT, e & fore g W smuTRa 32
1. Realism / TUTddTg

2. Idealism / 3TGRIATG

3. Existentialism / 3{f&i@arg

4. Naturalism / W

Correct Answer :-

 Naturalism / W’Iﬁ

21) India signed a 20 — year ‘Treaty of Peace and Friendship’ in 1971 with ./ HRA A

1971 # & 1Y 20 9T Trifa 3R T AfYr R gwaer fean
1. Sri Lanka/%ﬁw

2. Bangladesh / SIRGIEE
3. Soviet Union / faad ¥9



4. US / 3AR®T

Correct Answer :-

« Soviet Union / qfgad Ig

22) is a body of the United Nations composed of all member states. / Yo

Y P T 3brS & o Wit wew Irsai @ Fffa §

1. Security Council / R&T IRWE

2. Economic and Social Council / 3T Td TS GREG
3. Trusteeship Council / =TT TREG

4. General Assembly / HGIRTHI

Correct Answer :-

» General Assembly / HEIIHT

23) The benefits of Green Revolution in India were limited only to ./ HRA W gla

PifldFPAHUPIT d® Siffd A
1. Wheat and rice / ﬁg 3R A1ad

2. Barley and jowar / S 3R SaR

3. Barley and cereals / S 3R 3Tt

4, Rice and barley / dldc] 3R S

Correct Answer :-

» Wheat and rice / ﬁ‘é" 3R arad

24) The head of a guild in ancient and early medieval India was called ./ AT 3R
RIS AiE YR 3 T 99 & 79 3 CHRSIGIR

1. Adhikari / 3BT
2. Adhipati / 3ffeafa

3. Gahapati / Tl?ﬂﬁf
4. Jethaka / SId®

Correct Answer :-

« Jethaka / SId®



25) The study of fossils as a way of getting information about the history of life on earth and

structure of rocks is known as: /qaﬂwvﬂaﬂ%gﬁ%m aﬁ?ﬂgﬁraﬁm%ﬁwﬁ
SFHRI UTW &34 B TP faf & =0 & Siiaredl &1 309 98 $eardl g

1. Ecology / Eﬁ?ﬂ%ﬁ

2. Geography / ST

3. Paleontology / BINBIEE IS
4. Geology / fSrararsn

Correct Answer :-

« Paleontology / DINEIEENIE

26) The thickness of the Troposphere is maximum at the Equator during which of the

following seasons? / 'J;IFWWT W &iyavsd @"ﬁ'\‘tﬁq?) ot Aers AU d A feg vm o
s e giefl 82

1. Winter / fdebTelA
2. Spring / agqd

3. Summer / YTSHOTA
4. Autumn / [RGB

Correct Answer :-

« Summer / YTSHBTAA

27) The value of final goods and services produced in an economy in a year is known as
./ U a4 ¥ it erfogawut ® Iaurfea sifaw awgan oix Tareii & gea &t
& U H AT g |

1. Per Capital Income / Ufdl tlfrﬂ S

2. Gross Domestic Product / b i ‘d\(q\dd‘lld
3. Gross National Income / b QTQQW S
4. Gross National Product / b d TI'@T{ Jdlq

Correct Answer :-

» Gross Domestic Product / Hh ¢ ‘d?{(‘j\\i(‘vllcl

28) Objective-based teaching is suggested by: / G%W-GH i fRrgror ?FI% gIRT JATAT 1T



1. C. Norman /@[. :ﬁﬁ:f
2. D.W. Allen / 1. &9, TaH
3. Benjamin S. Bloom / ST T [H

4. David Crowder / @ﬁg $|SQ

Correct Answer :-

« Benjamin S. Bloom / ST T o]H

29) Which one of the following is a disadvantage of Inquiry-based Learning? / Fafafaad

A DI AHATU-IATYTRT SRR HT TS 14 32
1. Promotes a deeper understanding of content / I B *I'é%l'{f | {-IH'i{:I & ﬁ*l'q IR %I

2. Involves a lot of preparation and planning time / g dgd IR AR 3R AT 9 i
HIAT G

3. Builds initiative and self-direction / Ugdl GﬁT GTIF:{-IEQII D[ HTYR TG dl %l
4, Warms up the brain for learning / W%ﬁ‘lﬁmﬁ IR W%I

Correct Answer :-

« Involves a lot of preparation and planning time / g dgd IR TR 3R ST gHY i
AT

30) Which Finance Minister of India initiated the New Economic Policy (NEP)? / HRd &

frw fom 5 A =5 onfdes Hifa (@agdh) @1 grema o
1. Morarji Desai / ARTSH é“\:rr‘é'

2. Manmohan Singh / tl_"ltn_EFf g

3. CD Deshmukh / 1€} SR

4. TT Krishnamachari / €1 W

Correct Answer :-

« Manmohan Singh / e Rig

31) Which plan discussed in detail the food security in India? / HIRd § @1 Ll & feore

e g R fawar & 9ai g8
1. Fifth plan / G<dl T
2. Eighth plan / 31341 AT



3. Sixth plan / ELKISE]
4. Ninth plan / EICIRISE]

Correct Answer :-

« Ninth plan / 1d} T

32) Which Article of the Constitution of India empowers a citizen the right to move to the
Supreme Court to enforce Fundamental Rights? / HIRd & WU ST AT SF;I,@_:{ TP
ANIR® Bt Hifer ReRI 3 yafda w37 & g wale =ararey d 91 &1 sifteR gar
82

1. 37
2.39
3.35

4,32

Correct Answer :-

33) Which Article of the Indian Constitution provides for an independent Election

Commission? / HIR<ITd TIAUTT BT B AT 56 TP T AT TN UG HRal 872
1.323
2.327
3.324

4,325

Correct Answer :-
e 324

34) Which of the following is not applicable to Micro Teaching? /Fafafaa i w4 J&H

Rreror wrgH Afn W AR 82
1. Immediate feedback is not gained. / dch el Elﬁl'ﬂf@ gred '_‘|€f Eﬁ?ﬁ % |

2. Duration of instruction is limited from five to ten minutes. / IfléQI CARIEIT) vIc) I <9 fime
I S g g

3. The size of the learning group is small. / ST HHg Pl HPR Bl S\Idl %I
4, Teaching is carried out under controlled conditions. / fRreqor , afa uRfRufaal & foear srarn % I




Correct Answer :-

« Immediate feedback is not gained. / dehTc] Elﬁl'g@ Uit '_-|€f Eﬁ?‘ﬂ % |

35) Which of the following dynasties had the longest rule? /ﬁ'ﬂflﬁ'@ﬁ A forg Y=
BT ATEADTT I T UT?

1. The Pratiharas / EI'[%I_ETR

2. The Palas / Ulcl

3. The Senas / I

4. The Rashtrakutas / JIFHC

Correct Answer :-

o The Palas / Ul

36) Which among the following Viceroys was associated with the Ilbert Bill Controversy? /

fFrafiEd & & 1 a1 areRm gaed e farg 3 g1 91
1. Lord Ripon/ dre o=

2. Lord Lytton / @IS faled

3. Lord Curzon /@8 o

4. Lord Hardinge / FITSCET%T[

Correct Answer :-

« Lord Ripon/a%ﬁ'q:f

37) Which among the following is a major obstacle to economic development in India? /

Frafafea o @« yRa # snfde faer & e v g Tt 32
1. Low productivity / Y IdTGdhdl

2. Low level unemployment / 15 TR 1 SRR

3. High literacy rate / 3= HI&RdI ax

4. Increased GDP rate / el TR 3G &) B glg

Correct Answer :-

« Low productivity / Y IdrgHdr



Which among the following is a commercial bank? / fafafed d§ 9 919 T aifvifcus §@
82

1. State Bank of India / HRd1g W< o

2. Regional Rural Bank / &t Tty CEg
3. Reserve Bank of India / HR<Tg oTd o
4, Cooperative Bank / ehRI 4%

Correct Answer :-

« State Bank of India / HRdIT ¥ ¢ §

39) Which among the following Mughal emperors prohibited the use of tobacco? /

Frafafea 9 9 fow ge Jure A T & Sua &1 ufaafia fear ar
1. Jahangir / Gl_E:T‘ﬂT

2. Babur / dlelX

3. Shahjahan / QGG

4. Akbar / 3[hdT

Correct Answer :-

« Jahangir / SgIR

40) An effective teacher tries to make the class room environment more ./ Tdh

UHTd! RA81, FHeiT & ararar vl &1 3R Ifis GG
1. democratic / B IAD

2. autocratic / ﬁw

3. strict and rigid / Hed 3R FBR

4. anarchic / 3RS

Correct Answer :-

o democratic / ?ﬁWTW

41) The silver coin introduced by Sher Shah and continued by the Mughals was : / Wﬂ'&fw

waferd forar T SR T gIRT STRY @1 T ikt 1 RyasT o
1. Rupaya / 244l

2. Asharfi / 3‘I'Q'I'EF>‘T



3. Muhar/ﬁl@?
4. Dinar / é|:||?

Correct Answer :-

e Rupaya / 2Udl

42) Many of the social problems in modern India could be due to the neglect

of: / AMYFIP HRA A B TS THETSHT BT RN A P IU&T B Tl &:
1. Higher Education / S&IcR fR1&fT

2. English education / 313ISit fRr&f

3. Value education / 3TGRf R

4. Technical education / db-11ch! fRI&f

Correct Answer :-

« Value education / GAIEQi fRrem

43) Who has the power to recommend the dismissal of the State Government and suspension
or dissolution of State Assembly? / YT HAIDR P @R 3R IS4 YU &
fretae a1 fage 9t Rreivw o3+ 9t wifda fead w32

1. Prime Minister / UUTTHAT
2. Parliament / 939G

3. Governor / JSUUTd
4. Cabinet / PfaT

Correct Answer :-

o Governor / YUl

44) Who is considered the father of Green Revolution at the world level? / fJd%d TR IR E-'ﬁ_d

ifd & % fHA a1 911 32

1. Thomas Malthus / 4THT AT

2. Norman Borlaug / 1T SRa

3. Cecil Salmon / RTd Yerd

4. William S. Gaud / fafera T4, lis

Correct Answer :-



« Norman Borlaug / BIEEECIRGIR

45) Which of the following reason is responsible for highest percentage female migration in

India? / HRd § AfgA Yara= &1 =9 yfazrdar & forg fRafafad § 9 @9 a1 sru
IR 82

1. Stability / TR
2. Employment / ISR
3. Marriage / faarg

4. Education / fQT&‘IT

Correct Answer :-

« Marriage / faarg

46) The “Helmand Province” of Afghanistan is famous for cultivating which of the

following? / fFrafafad # T fraa! W & e srpmfaar= &1 «geavic uia» R 872
1. Opium / Y
2. Wheat/ﬁ_g

3. Cotton / hUNH

4. Tobacco / IS

Correct Answer :-

« Opium / 3

47) Lal Bahadur Shastri's Samadhi is also known as: / ¢IT¢] d@TgY ARAT DAY B 5
| |/ Wt ST ST B

1. Shakti Sthal / Rifed e
2. Shanti Van / STidiad

3. Chaitrabhoomi / &3

4. Vijay Ghat / farg gre

Correct Answer :-

« Vijay Ghat / fasrg gre



Every year the government announces the prices of agricultural goods as a backing for

farmers’ produce is known as ./ UA® 94 IRER frarl &1 Ius & J0dT & &9
H oY Il & HHal B v Hd! 3, o PEIATAT 2|

1. Limit price / iftra HY

2. Base price / S{TUR Hcd

3. Exchange price / AT &R
4. Support price / BRI HoY

Correct Answer :-

« Support price / e HY

49) How many countries of Southern Africa make the Southern African Customs Union

(SACU)? / &f&roft anpieT & fora=t &1 firaav gféft snpie! IJiur 3o W9 (SACU) BT
fArafor sa 82

1.3
2.5
3.4

4. 6

Correct Answer :-

50) One species of Coffee called Coffea charrieriana is free of Caffeine. In which of the
following countries Coffea charrieriana is grown? / PIBI DI Udh yeTfe fordd

BIP ERINAT HT SITaT 8, PBI- A gad gl 81 77 o | 59 ox1 o srw i
UGS ST 32

1. Vietnam / faga-md
2. Yemen / HA

3. Cameroon / HIS
4, Liberia / aTgé'F{aT

Correct Answer :-

o Cameroon / %ﬂ"@_"f

51) CANCELLED



SEBI stands for ./ qdt (SEBI) &1 faqa &q gl
1. Securities Exchange Board of India / Rrnfidis Qaﬂ%h—rf IS 3T sfear
2. Securities and Safeties Exchange Board of India / wﬁf us ﬁcﬁﬂﬁf Qaﬂ%ﬁf S 3T

3. Securities and Stocks Exchange Board of India / ﬁlﬂﬁ?ﬂﬁ TS b U Jo S8 3T 3'%'5”

4, Stock Exchange Board of India / Tidh QOR-It\l'\SI q\ls‘" 3H g%m

Correct Answer :-

« Securities Exchange Board of India / IBERIEES] Qaﬂ%ﬁf S 3 s'%ﬂT

52) A variety of pedagogies that involve students in discovery or research and
employ approaches of learning is called / faftrs R & Rreom=ms it
ST B FHelt @S a7 ST A W B T, AR R P TP B P
B §, _ HEATdI g

1. Problem based learning / THRIT TR SETH
2. Learning from observation / NIERIEE] SR ST
3. Inquiry based learning / S{=AVOT 1T SETH
4. Pedagogy of learning / 3ETH &1 fRIGUTRI

Correct Answer :-

« Pedagogy of learning / 3{TSRTH HT fRIEURTH

53) Barak valley in Assam is famous for which among the following? / Frafafea § 9 s/

1 1 Tl foraas forg uRrs 82

1. Bamboo Industry / S IR

2. Petroleum Production / ﬂaﬁﬂm Sl
3. Cottage Industries / w RE

4. Tea Cultivation / T &1 Wt

Correct Answer :-

« Tea Cultivation / T 1 Qdt

54) Which Unit/Scale is used to measure the ‘thicknesses of Stratospheric Ozone layer’? /

‘meﬁm’ﬁmﬁmmmﬂnﬁmmm
STt 82



1. Melson units / AT SH1AT
2. Beaufort Scale / @Jﬁé BLIE|

3. Dobson units / SIST 3HTSAT

4. Sieverts / Fﬂaé

Correct Answer :-

« Dobson units / ST SHTSAT

55) Quit India Movement was launched in the year ./ HRA Eﬁ:‘ﬁ 3fiere a9
H Y= foar T T

1. 1945
2. 1942
3. 1930
4. 1919

Correct Answer :-

e 1942

56) What is the approximate interval between spring tide and neap tides? / ggd SAIR-HICT

3R TY SaR-HTeT & S g 3ieavTa &1 32
1. 30 days / 30 faA

2. 1day/1fed

3.7 days /7 f&d

4,15 days/ 15 fa

Correct Answer :-

. 7days/7faA

57) The Lion capital at Sarnath belonged to which one of the following kings? / HIRATY G|

Rig eyt fFrafafed # 9 fova wrom @ weifta A
1. Vikramaditya / faprfa

2. Kanishka / B{-1sh

3. Ashoka / 3{RIIeh

4. Ghatotkacha / Ucie@hd



Correct Answer :-

. Ashoka / 3/RN&

58) In which layer of the atmosphere is Ozone gas concentrated? /aTﬂ'ﬁ'S'a Pl fPawRad

3N T Hfea 32

1. Asthenosphere / Q@W
2. Stratosphere / FHATUHS A

3. Ionosphere / TITHS A

4. Exosphere / STgIHS

Correct Answer :-

« Stratosphere / FHATTHSA

59) Chalcolithic Age is also known as: / ATADIATAD g1 &1 59 ¥ ¥ ot ST WA 8:
1. Neolithic Age / BEINIREY g1

2. Copper Age / dTd Tl

3. Stone Age / UTHIUT T

4, Tron Age / ?ﬁ_s' giT

Correct Answer :-

« Copper Age / dI& gl

60) During the reign of which of the following Mughal rulers, did Ahmad Shah Abdali
invade India for the first time? / AR & & fHad Ima-ToTa d QIrd IS 380G
T fqTell 3 Ugdt IR HRd U ATHHT fHar 12

1. Jahandar Shah / STgTGR 2§
2. Shah Alam II / RITg 3TcTH 11
3. Bahadur Shah / d&lgR RTe
4, Ahmad Shah / 3{gHq Xlg

Correct Answer :-

o Shah Alam I / RTg ATAH 11



